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1 |deiEE 3.1E+3 3,100.5 3,100.5
2 |EHE 4.2E+0 42 42
3 |AFE

4 |EHE

5 (AR

6 IR

7 |fRBE 9.0E-1 0.9 0.9
8 [ZWE 8.0E+0 8.0 8.0
9 [WHARE

10 |HBER

11 |BER

12 |TER 1.0E-1 0.1 1.0E-1 0.1 0.2
13 |HREER 2.6E+3 2,600.0 2,600.0
14 |[#E)E 2.0E+1 20.0 20.0
15 |FriRE

16 |[EWE

17 [BIIER

18 |BHE

19 [ILEE

20 |RHE

21 |IgEE

22 |E&mER 9.1E+2 910.0 910.0
23 |BHIR 5.6E+2 560.0 560.0
24 |=ZER 7.0E-1| 29E+0 36 36
25 |#HER

26 |REAT 8.6E+0 8.6 1.3E+1 13.0 21.6
27 | KBRAF 1.5E+3 1,500.0 1,500.0
28 |EER 7.8E+2 780.0 3.3E+1 33.0 813.0
29 |ZRER

30 |FnFLER

31 |BIE 1.9E+3 1,900.0 1,900.0
32 |BRE

33 |MILE 8.3E+2 830.0 830.0
34 |[LER 5.2E+3 5,200.0 5,200.0
35 |lLOR

36 |fESR 3.0E+3 3,000.0 1.1E+1 11.0 3,011.0
37 |BNR

38 |BER 1.0E+1| 2.3E+2 241.3 2413
39 |EER

40 |fEREE

41 [EBR 1.3E+3 1,300.0 1,300.0
2 |RIBER

43 |RERR

44 | KHR 6.6E+2 660.0 660.0
45 |BIBR 6.4E+3 6,400.0 1.7E+2 170.0 6,570.0
46 |EBESER 2.4E+3 2,400.0 2,400.0
47 |[HiER
£ H 1.0E+1| 3.0E+4 29,894.7 15E+3|  2.6E+2 1,759.6 31,654.3
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